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In the given area, the lower trace of hematite bed outcrop at A, B, and C. Its upper trace is met 
with D at a depth of 300 m. the hematite bed forms a part of a conformable series with 
conglomerate at the base, and sandstone 200 m thick, underlying the youngest limestone bed of 
the series. Determine the dip and the thickness of the hematite bed and complete the outcrop. 
Colour the beds as follows: limestone – yellow, hematite – red, sandstone – orange and 
conglomerate – purple. Draw cross section along the line XY. 
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